Fitter ¢ Semester2 Module 1 - Drilling

Reviewed and updated on: 8November 2019 Version11.

1 : Whatis the name of the angle marked x in
the reamer? |6 0 & KA nd 8L UK ANK n 0 6
aasy

I e

A : Rake angle § YKKZ 11

B : Fluteangle|d G Kz nh

C : Helixangle |SY Uk n

D : Clearance anglel| & O 6K3z$n

2 : What is the name of the process of finishing
the drllled hole? Ut DKk || YMUOUKB™N Y
K l‘.’lT U oK@ on 0 %%

A : Reaming |6 G Ud Bk

B : Spotfacing| YIOY U$ Bk

C : CounterboringKaT BE & 6Bk

D : Countersinking Ka T BIS 8 UKB k

3 : Why hand reamers have uneven spacing of
teeth’>|azSBj/ 6,0 KNOBME BHBNG O e
Sz 8%

A : Reduce chatteringlL ¥ I K @KB&3

B : Remove more metalsil U i i o WK G ce3
C : Increase the efficiency§ll U NoGT 0 | B

D Increase the life of the tool |} GKogll G r n
oTa|l

4 : What is the purpose of clearance angle in
twist drill? |[Ua'U+t Ded O6)TBSK @& 3 Y3 U
Sy

A : Preventroughholesfin i 6 ‘UJ) KZ5% K3
B : Preventoversize holesJr & 0 HE Xz B
6z K3

C : Prevent unequal angle of cutting edges |
UKnEW 2 8Kz K25 2z K3

D : Prevent friction of drill behind the cutting
edges Ut RYeeK n BY6 & ® 116 2z K3

5 : Whatis the angle of counter sinking for
riveting? |0 6 1 BEYO Bk 0 T BIS B K &Bz ki U
Sy

A 75°
B : 80°
c : 90°
D : 120°

6 : Whatis the reason for over heated drill while
drilling? |Ut DK @eBY% Ot Ry Sa3znv
K& 0K 0 63%

A : Drill held not correctly U+ ® SMNBSKY S 0 B

nK3mMmmsy

B : Workis notrigidly held K 0 O ¢ k §NBSKY
n SHKBS IS §

C : Clearance angle is incorrect |0 O 6)3BSk ce
$ S1ii SSYB

D : Flutes are clogged with chipdd L &KYK 0 6 n
dqalgo kS Oy

7 . What is the name of the operation to enlarge
the hole for given depth? N & tk S 6 Kivl od) | =
KnSKR6®Yaod ndéYRIMaDaSY
Reaming |6 G U0 Bk

Spot facing| Y IOY U$ Bk

Counter boring [Ka T BlZ & 6 B k

Counter sinking Ko T BI§ 8 UKB K

OO w>-

8 . What will happen if the clearance angle of
dr|II ismore? |O UMt R de 0 O6KIZ$H U i &Y
N A aSzx

A : Cutting edge will be bluntK U I |Blry B |
Szkd

B : Cutting edge will not be sharpq U | |BIR Y L
n SS7Bk G

C : Cutting edge will become weakq U I | Blk
KOLAS&O| ki

D : Cutting edge will not cut material U || Blk
O Y UKS20 &G 1MBY k 0

9 : What will happen if the spindle running out
of centre while drilling? © U0 D KB & 0 n
U ekl &va$asd SaaaSzxa

A : Drill will break |Ut D@la | Kk G

B : Drills are over heated [ t B en K 657
Ld)] kU

C : Drill make rough hole Pt D 66 z @en (SNFY
D : Over sized holes are madéd|U i iKK G KY

| Y& O SIfY
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10 : What is the name of the element marked as
x of the thread? [2 YRYxKYA n 6 B L UNBX
na®daSy

|
|
|
MINOR DIA
MAJOR DIA

X
A : Root|A |
B : Lead|celt
C : Pitch|UnL
D Flank |d 3 K

11 : What A represents in grinding wheel
specification 32A46H8V7 | KA|0 H#B WiiteB kS K G
Ur UrBAs@arisv] s 6V aaNROSANG

A : Grade |Q]VY ¢

B : Grainsize JQ]YKnh K0 6

C : Typeofbond|o BK'Gr Ko 6

D : Typeofabrasivefin L SK ® Ka 6

12 : Whatis to be done after dressing the
grinding wheel to run concentric?d s Y U jh Dek Y
KYO cgp | Q)0 H#B UiteBoexk GKNOYO NGK 6 n
LaUsS)
: Truing | TeB
Glazing WY US B«
Loading |eez Ut Bk
Dressingf DY US$ Bk

OO0 W >

13 : Whatis the product obtained from blast
furnace? [ya " On &sva v j adNusSy

A : Pigiron |[Unik®&6 n

B : Castiron|Ka"h&6n

C : Wroughtiron |6 YAFO & n

D : Malleableiron|n 6 Gez S @

14 : Which metal is used to manufacture
magnets, ball bearing and cutting tool®|y % Y/lce
0 VY Oiji GBI MEikod) n 6 KiYD el K & 0 KU
TnooKkbm 8%

A : Cobalt|KZz 0o,

B : Cadmium|Ky + U5 O
C : Vanadium|r §y nY Ut 06
D : Molybdenum|6 Z Uce™ + Y'no

15 : How much copper contains in pyrites ore? |
naH6 AN DEKNNTuB? &%

A : 0.15

B : 0.32

C: 05

D 0.45

16 : Which metal is resistant to many types of
acids? |K Z & @ 0 KNAT K 0K&H > KB ce)

TUN&GSHH G

A : Tin|UI n

B : Nickel |Un K ce

C : Lead|celt

D : Chromium |0z U5 Ob

17 : Whatis the use of telescopic gauge? |

' YU gWKiKnOawsSy

A : Measuredepth|k SémithnnyY

B Measure external dimensiongd o $héQia 6
KDdanny

C : Measure angular dimension z A B Od &
KDdannyY

D : Measure size of holes, slotg |V, NV IKY
hKaEDannyY

18 : Which method is suitable to remove the
broken stud very near to the surface® [N &Y 0 $
FantYt K2 n K akdgho Ze dr U 00!

A : Ezyoutmethod] LET Ur U

B : Making drillhole Ut B paen 0 n G

C : Prick punch method U T K BLr U fi

D : Using square taper punchr| k 0 d K@ L
K

19 : Whatis the angle of counter sink head
screws? Ko T BIS B KKKz QKNS

A : 60°
B : 90°
C : 105°
D 120°
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20 : Whatis the name of the angle in the drill bit

marked as x? U+ D o0& IKY 08 10 U0 KN@ © T
Kz K@ ono$y

e

Chiselangle] Y KiK z 1

Rake angle f§ YKz n

Point angle |U 6 BN

Lip clearance angle() ogn & O 6Kz$n

OO0 W >

21 : Which angle is determined by the helix
angle indrill bit? U+ Doet Y U ke (UK $
Kz B8 ¥nn Bz ®BEN

A : Point angle |U 6 BBANU

B : Rake angle f YKKZ 11

C : Chiselangle| 0 Lk n

D : Clearance anglel]l 8 6 K3 n

22 : What s the use of reamer?d 0 & @i

TndaksSy

A : Drilahole|l YKI6 n G

B Enlarging ahole] Kl YKNZD S K6 'n G

C : Threadingahole] Y&& Y Ukt 6Bk

D Finishing to correct size of the drilled hole |
Ut Diek || YK SEIKOKOD OUNnK&BiE

23 : Whatis the purpose of type N twist drills? |
amipall Rdes va usy

A : Used for hard material K £ 266l Y Uk O ce

Uodi™ YO O e

B : Used for brittle material |O B & U 6 K oe)

H Yo0ce

C : Used for soft and tough materialj 6 § 6

SASudKfiod n 0K O B¢

D : Used for normal low carbon steeb| G 0 O t

UnKaocinaYWod n 0K OQm By

24 : Which reamer will have a long taper lead? |
KZ&§ 0 & @BloYieed S 2% @

A : Handreamer|Sy § 0 0 6

B : Socketreamerf Y K& 06 6

C : Machine reamer |5 R G6nd & 6
D : Helical fluted reamer B Y cedKidé 0 & 6

25 : What is the function of pilot in the hand
reamer with pilot? [n 0 O K 08 FG 0 © &
naOlKudaSy

A : Keep size of hole accurated| Z Keth K 0 6

$ Sdik 3

B : Removes the burr from the hole§ Z €8¥ 6 ¢
K N 0K& NSy

C : Provide smooth functioning of reamerd| & 6 6
K& UL K®&OCc TMNidS 3

D : Keep reamer concentric with hole to be
reamed |6 0 & @ O &Stz rn VS K¥ T n

Ku Y UKD KW o)

26 : Which decides the point angle of drill? |
U+ RYGEO BN K Z N K 6 N5&

A : Drillmaterial [Ut D leY 0 6 O ce

B : Jobmaterial |t Y& YU & Oce

C : Cutting speed K G I Knl¥ U N

D : Sizeofthedril Ut R@& 0 HS

27 : Whatis the drill size for reaming a 10 mm
hole, if under size is 0.2mm and over size is

0.05mm? | 100 8 &Y Y KNS 0 Uko6BY0 oe)
Ut Dea & Sz Ak #IBIs@ FRUG § 6
Jr & 0 D506 &F

A : 85mm
B : 9.75mm
C : 10.00 mm
D : 10.25mm
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28 : What is the name of the tool?#t $I (iKoa

na®dasSy

Stone dresser] Zz’hDVY $ 6
Diamond dresser] 0 O & BIY $ 6

Star wheels dresser| G 6 G0 st DY $ 6
Abrasive stick dresser]| Ty US KDY $ 6

OO w>»

29 : Which indicates the strength of bond in
grinding wheel? K Z @]0 A B Uta&@Ed BN 0 K N
K B K6 NS

A : Grid |U Qi

B : Grade |QVYt

C : Structure|[$ B L na

D : Grainsize [QYKnth K@ 6

30 : Whatis the name of the defect, if the
surface of the grinding wheel develops smooth and

shining appearance?i| $N z K@ 0h 0 §H K 6
G]u HB UteBXNE L KindL o KNEBaDY
Glazing [HUWY US B«

Truing | TiEB

Loading |eez Ut Bk

Dressingf DY US$ Bk

OO m >

31 : Why agricultural equipment is made up of
wroughtiron? |a zKB) U8 K 6&1YAFO6 8 Y
0n IS’JV

A : Lowcost |K dcel K N

B : Heavyweight|OG 6 U

C : Wear resistant U L ééﬂz’,r i G

D Corrosion resistant | BIKUN 6 z i G

32 : Whatis the name of the part marked x in
blast furnace? y o " On &$KYA nodL U N
QUK u®daSy

A : Tuyeres|F UOY S ¢

B : Moltenslag|d z . 'ny K
C : Molteniron|62\ﬁ1(”)6'n
D Tapping hole | § &g Bx

33 : Whatis the range of carbon content in cast
ironalloy? |[Ka"h 06 h ce®®@ 0 okBnIKEA 3 I

aoSz 8%

A 2t04%
B : 5t09%
C : 6t09%
D 10to 12%

34 : Whatis the name of the part marked x in
vernier micrometer? f U'n & O Oz & BKAGY
8L UOMNK in 0@ 0S¥

X
4=¢Z/
=:£-— O

. T, ———
= %>
%A—o
7
0o ——
8::“
. —
4 ——— 35
e
Q—=
— 30
t j 1E
x

Anvil|] nUr oe
Barrel |0y 6 ce
Thimble |[U nx
Ratchet stop |6 § L ¥ n

o0 w>
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35 : Whatis the method of removing the broken
stud? || Gnl'Yt K8 | Ky 8 aSy

Ezyout method |h LT FUr Un

Prick punch method U T 5 Blr Ui
Making drill hole method [J + B Been KniY
r un

Using square taper punch method |a O 6
YnBlr Kd n OK&na

—OCO®@>»

36 : Whatis the operation of bevelling the end
ofadrilledhole 7] KUt D kek || Y KYH BNz

0 VYr KR ISy

Reaming | 6 U3 Bk

Spot facing [H 0¥ U $ Bk

Counter boring Ko T B @ 6 B k
Counter sinking K0 T BI§ 8 UKB «

OO0 w >

37 : Whatis the effect if clearance angle is
incorrect? |OUN @siKsz & cel$R A 0T Odr
Szx

A : Oversized holes® 3hHYK 0 KYS z ce

B : Overheatedrills |[Jr &S a0t D oe

C : RoughholesHn U 6 9k e

D : Brokendrill|[Ut Rdel I na

38 : Whatis the name of part marked as X ? | X
KYA nd 8L UOMNK in & 0S%

Heel |S O o

Cutting edge K U I Bk

Position rake anglefi 'n K 6 YKz n
Negative rake anglel] n 0 f & YKKZ 11

o0 w>

39 : Which reamer is used for reaming internal
Metric morse tapered holes?fj B N tio6YKUd: ZD$Kc
FY®BizeKB 6 OB o) K § 0 &
TnoKQm 8%

A : Helical fluted reamer B Y U ofKid6 G 6 6

B : Handreamer withpiloth 0 O 089 n,
6006

C : Taper pin hand reamerl] Y g §$9 Q, G066
D oan

Socket reamer Wlth paraIIeI shank§|d O
RFKY 0§ Y KE 06
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40 : Name the type of the reamer.?Ht $6 0 0 6
KYT K GK6tn 0@ N0 | B i

A<

Hand reamer |SY 6,0 0 6
Helical reamer S Y U c8KIad 6
Machine reamer o R (8n0 & 6
Taper pin reamer | Y g §&d 6 6

OO m >

41 : Whatis the name of part marked X? [§ ¥
UL UOMNKtn u®uSy®

X

Arbor|h 6 ¢ 6

Drill chuck [U} D ke
Drill bit | U+ D gel
Chuck key L. KK @

o0 w>

42 : Which reamer has a long taper lead® [Z 'n
$ 8u ® § KeBlo Yoo § 7 H’ﬁ

Socket reamer § Y K& O &

Hand reamer |S¢ 6 0 0 6

Machine reamer |5 R G6nd 8 6

OO w>

43 : Whatis the type of defect on drilled hole? |
Ut Diek |S 2 ped) K § K 0KEN 2 &5

Helical fluted reamer B Y U ofKiod B & 6 6

Rough holes Hn U 6 9k Ne

Over heatedrill | IJr 65 G0+ D ce
Oversized holeslPr & 0 F552 oe

. Unequal flow of chips UL &K 0H$ 6 G ™
ras

00 W>

44 . What is the defect if pores of the grinding
wheel get clogged?fl k @0 A B o&kBk & BN
SraNBoNz&y

Drilling |JUt D U @Bk

Glazing [HUY U S Bk

Loading |eez Ut Bk

Dressingf DY US$ Bk

OO W >

45 : Which cast iron has the ability to reduce
vibration and tool chattering in machine tools? |

UKo dsaaRAM 8RB nji6l G ce
LI OKEOKG WKW 6 NSz 8

A : GreycastironqKa"h O6n

B : Whitecastiron|r a #la"h &6 n

C : Nodular castiron JB U iéh O 6 n

D : Malleable castironfh L @ Nr riNcoerégdi S @

46 : Which furnace is used to produce wrought
iron? |6 Yoez IS § 0 Mo WY o) KOBK T
T r] OK Qm 8%

Blast furnacefya " On 9§

Cupola furnace K z @8 @

Puddling furnace fj U & nBexs

Electric arc furnace it ceY UAl Rx@ 8 @

0O w>
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47 . Which ore is used to extract zincE[ 0
UnKiokdhof) KHO Kd nOpKdm 8%
A : Bauxite|o YOO HI

B : Galenalk Y eeY™n @

C : Calamine Ky @Y 6 0 H™n

D : Cassiterite KY $ I Y 6 4 #HI

48 : Which tool is used to check the internal
clearance of the bearing?J K § n K 6Kad n 07 «
Uo OK&BBN Ul 6YKG KB 0 B& WY ) KO0
Lo 8%

A : Steelrule[ G dece

B : Feeler gauge O 0 cedY L

C : Depthgauge} Yk ¥il

D : Verniercaliper [r UnkyOdid n $ ¢

49 : Whatis the name of part marked as X? | X
K¥ 001000 N in 0®aS%

L1
e
[

/x

=

==

A : Collar |KY ce6

B : Squarehead] 0 O8 Y1}
C : Fingers[UOB k $ ¢

D : Body|o Yt 0

50 : Whatis the angle of ACME thread ? | ACMH

A

B : 55°
c : 29
D : 45°

51 : Whatis the advantage of centre screw in

die stock? } 'hY KW AV ¥ 6 K (et ® 0S¥

A : Totightenthe die } Gk K $ ™YU ce|

B : To adjust the depth of cutK I K & S 6 K1 /A
6 0 O KB ce)

$
C : To adjust the dia of internal threadq B N t 6 K

LG UK OKB 6 0 O KGN ce)
D : To adjust the dia of external threadd| G S 6 U
L GO OKB 6 0 O KGN0 )

52 : What is the name of elements of screw
marked as X? | KA\ n0 BL U GKWb KB 0 6
a asSy
[TV

e

MAJOR DIAMETER
MINOR DIAMETER
i
I
I
1

EFFECTIVE DWMETER

b
%

A Root |A I

B : Pitch|Un L

C : Crest|OY ”

D : Threadanglep YJ{B Kk ce

53 : Which term describes the axial movement

of screw in one complete turn?K Z & m N Kn G n ¢
L U aoEi KA O akdURo n &'6 NG

A : Lead|celt

B Flank |d 3 K

C : Pitch|Un L

D : Depth|k S60h

62

4 : How the size of drill bit is measured®|t D ce
OK s 0FKS GYH O S%

Between flutes |d G | BYS G L

Between the lands feFKY0 G L

Between web |r YK&6 O L

Neck diameter kK N& '@ 0 $

OO0 ®m>»C

55 : Whatis the helix angle of general purpose
dril? | a0 T PzUhRBY Ukl A uSy

A : 59°

B 118°

Cc . 275°

D 8°to 12°
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56 What is the name of the tool?#t $I- (iKoéi

na®dasSy

|
.
.
.
L 1
.
.
.

A : Pilotdrill|ln o Otet D e

B : Countersink KaT BIS 8K

C : Drill with pilot |Ut RYseam a O cel

D : Countersink with pilot Ka T Bl E¥ § B K
na Ocel

57 Which part of a reamer is designed for the
removal of chips? | K6 0 K&K Z& DUWL B
Un K Gksdhod]) + S dURKrR %

A : Face|OY $

B : Flute|d G}

C : Heel|] 8§

D : Cutting edge K U I Bk

58 What is the purpose of type S twist drill? |
I agaUt Rides Yq oSy

A : Used for hard material K £ z2n6a KU oe|
TnOpkdbu Sy

B : Used for high carbon steefl| AK 0 & clince
KUd|nOoKQm 8§

C : Used for soft and tough materialj 6 § 6
SASuU0KfUod nODKGm 8¢

D : Used for normal low carbon steeb| G 0 G t
UnKaocinWod) n 0K Qm S

59 What is the reason for rough holes in
drilling? |Ut DA&EB & Nz KK 0 6310S%

A : Unequal point thinning H$ 6 U KBBIN U

n NS n i

B : Drill pointnotincentre Ut B WeHB &8 S G

B

D : Drill cutting edges are not sharg] t RYoe
KULIBIK O | 6nSYYriSSIFB

60 Determine the drill size for finishing 19
mm reaming hole (as per table under size 0.2 &
over size 0.05 mm)? | @1U 6 6 G U oVR«&

nNioé KENKY )t Diedt KU i KS AN
(NG Ud¥iin US B& @ FOI2ij 610r 6 0 HL

0.05U & 0

A : 18.75mm

B : 19.00 mm

C : 19.25mm

D : 19.05mm

61 What is the name of operation?Ht §

i n6YRmM aduSy

=

\1

\

A : Drilling|]Ut D U@eBk

B : Spotfacing] YIOY US$ Bk

C : CountersinkingKta T BIS 8 UKB k
D : CounterboringKaT B & 6 Bk

62 What is the reason if the drilled hole is

larger than the drill size?® UGl D el t D kel 6
$ ¥SONA UK O 63W
A : Drillisnotsharp Ut N ¥l SSI{B

Feed rate is too high G N& n NU fi

Cutting speed is too highK 0 | Kni¥ Ud\
&y

Unequal angle of cutting edgel) NdJiK'n 0 6 Y

K § & IKTE 1

B &y
C nN
.

D
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63 What is the term, the top surface joining C : Datum line |t Yl B
the two sides of a thread?l] (i KYNl z & K &2YB D : Vernierdivision|f Un©@tO6 G L n
LOUgmeei SNE K S N9
A Root [A | 68 What is the name of the part marked as X
B : Crest|OY " of telescopic gauge?] Y Uce ® WYXKYA no 3
C : Flank|d 3 K UL UOMNK In 0 & 0S¥
D : Pitch|Un L
64 What V denotes in grinding wheel
specification 32A46H8V|0 H#B Wtedkr Un N® R
32A46H8\5 W3 UN R 0 $AN 0
A : Bond|0 u Bt
B : Grade |q]Y}
C : Abrasive]] TYUST x
D Grain size [1Ysna © S A : Spring|0. B«
65 : What type of abrasive wheel is used for B : Handle|SYee
grinding die steel? | G"h @ ¢¢ (00 H BEHaB k C : FixedleglyOUcYk
UKEKWKS TUS DS N OB K G 8% D Telescoping legl] Y Uoce @YK BK
A : Silicon carbide J$ UceK¥ & a ¢ H1i : —
B : Green silicon carbide$ 6§ U ceK¥ & 0 ¢ 1 ,69_ N _What is the name of the tool?#t si- (i koa
C : White aluminium oxié | § OY|N G & & Un ¢ " UDUSY
i Ua#Ht
D : Brown aluminium oxide D G)6~aG 6 & Un O|6
I Oa Hi
66 Which term indicates the amount of bond
present between the individual abrasive grains? |
KZeaRts1 U! kIin L S@KgY 6dZ L G N
00 IBlb 0 B #HB K6 W&y
A Grain |Q|Y¥éna # S
B : Grade |Q]VYt
C : Abrasive|] TYUST
D : Structure|$ B6 L 'n @ A : Reameri6G06
B : Spotfacingtool| Y IOY Ul$(UBoe
67 What is the name of the part marked as X inl C : Countersinktool Ka T Bl B# éBK
vernier micrometer? f Un&@ 8 Oz & KKYS D : Counter boringtool K i T B I i diBox

AnoBL UOINK In a®duSy

—
Tt
m‘éUM ?lilf!}l}lfl?lhfr{lf 45
———
==
A : Barrel|0y 6 e
B : Thimble|Un¥e 0o
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70 : Whatis the name of the angle marked as X
in drill bit? |U+ D o8 XKYA n6 8L UK ANK @
na®daSy

Helix angle S Y U &P rh

Lead angle peli K Z 1A

Point angle |U 6 AU

Chisel edge anglel| Y K i SKz n

OO m >

71 : Whatis the name of element marked X in

reamer? |6 0 @ @KYA n6 B L UANOK n G 6
aasSy
i
A : Face|OY $
B : Heel|Slce
C : Flute|d G I
D : Cutting edge K U I Bk

72 : Which angle determines the rake angle of

drills? [K Z 6 K 2 ©1 ReYKG K ZUnnacue N

K6 I\BGy

A : Helixangle |SY U kb n

B : Coreangle KZKzZn

C : Pointangle |U 6 BANU

D : Chiseledge anglel| Y Kii SKZz n

73 : Whatis the drill size for 15 mm reaming
hole? | @150 06 6 &t USYR¥W o)t D kel & T
Sy

A 1475 mm

C : 15.25mm
D : 14.65mm

B : 14.50 mm

74 : Why drilled holes are over sized in drilling
operation? |U t DiUgeB%&Eht D kek || YAz B
Jr & o H8 2 3

A : Drillisnotsharp Ut B & 0N S@yB

B : Unequalliplength H$ 6 Ureem@B 6 T h

C : Feedrate istoo highf G N& n N U &y
D : Cooling is insufficientiR & N d&'m O 0Scyy

75 : Whatis the name of the operation
producing flat seat on drilled hole?] + D kek |
Ul ga&y 8 adnaruieyYdYRIMadDaSy
A : Drilling|Ut D UeBk

B : Spotfacing| YIOY U$ Bk

C : Countersinking Ka T BI$ @ U KB

D : Counterboring|KuaT BE & 6 Bk

76 : What is the purpose of flute in drill?() t D ce
sailEd 3V asy

To drive out the chipsP L X 20 0 S 6

Un K OKogin Y

To reduce the weightt L i 6 K 6 &Y ce)

C : Toreduce the costel kKKND K 6 'iKY0 ce|

D : Toincrease the speedd UNT tKWIYoe)

« >

(o8]

77 . Whatis the angle of countersink tool used
on holes to be threaded?d Y tSY ¥n iMae¥iNG
T n OUKL OniYkeYT B B lKeBKA 0S¥

A 75°
B : 80°
c : 90°
D 120°

78 : Whatis the formula to calculate the blank
size of external thread (where p=pitch and

d=depth)? |6 0 S GGRY KosFo HIL Sy @Un L
ij o+ FK S O)K Bk N TKI6 WY (1a20S%

A : D=d¢p/10

B : D=d+p/10

C : D=dxp/10

D D=d+ p/10
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79 What is the name of the die?| 0K n 0 0
aasy
—
A Splitdie [U'HY G h
B : Halfdie|SaDuh
C : Solid die |$ Y Ulceti h
D : Adjustable screw plate dieJ|  L" Y a@ice
SY#Hah
80 Which type of thread, the crest and roots

are rounded to form a semi circle K § K K&
LG K\ﬁ lij 6 OY "H iArc\WBBn By Y

A : Acmethread| Kda. ¥i s @

B : Squarethread | k O d_Ki®

C : Knuckle thread n Kok G § l‘.’J

D : Trapezoidal thread} DY n ZILWY&FHT oe
81 What 5 denotes in grinding wheel

specification 41A46H5U8X]Ju HB (b8l Un NS
41A46H5U® Ba aN RO SAN O

A Bond |0 0 Bt

B : Abrasive|] TYUSTr VY

C : Structure|[$ B L na

D : Grainsize QYKnth K G 6

82 Which type of bonded wheel is used in

foundries for dressing castings? [D YKUISUBIKB
Uodfl e K § KiK&§6 2 By rGiin Oz «
UKOQm 8%

A : Silicate bond U § U a&KY 1

B : Shellacbond RY a®YYKn

C : Rubberbond |6 0 ® Y n

D Resinoid bond Y US & ¥ it

83 What type abrasive wheel is used for

grinding cemented carbides| 0 6 K10 6 tuKczH |
o FKESHKYO o) K § KGKEH T U K n O2Z &
UK Q@ 8%

A

ik

Green silicon carbide$ 6Wis U ceK ¥ & G C 1

B : Grey aluminium oxide QY GU0Unos

i Oa#t

C White aluminium oxide § OY|N G 6 G Un 06
i Ua#t

D : Brown aluminium oxide © (i]6 aUnds
i Ua#t

84 What is the value of one vernier division of

a vernier micrometer? | Kr Un& O8Oz KYA I 6
] Kr U'n @016 (KLitha & aS%

A : 0.01 mm

B : 0.02mm

C : 0.009 mm

D 0.002 mm

85 What is the name of part marked as X in

telescopic gauge?l Y cell Bl KKA'RKYA n o6 3
UL UOINK 0n 0 ®0S%

A : Handle|SYg

B : Fixedleg |0 OUcey k

C : Plungerlock |5 B Lo&Y K

D : Telescopiclegh Y celi’ #e{) g K

86 What is the method of removing broken

stud? | I Gnk'Yt K20 n K GKeéld i & 2S%

Ezyout| | L& T F

Prick punch U T KB L

Making drill hole [U+ DY¥&Nn 0 n 0

Using square taper puncl | 0 OB Y n B L
u nOK&no

XUOUJID
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87 : Why grey cast iron widely used for machine
tools? |6 Ralmi KU ceqi¥ 0 "h O6 K @ G n K
A r]s YndagBKbw 8%

Rapid cooling NY$ ¥B § zi'n @

Reduce vibration KB KK 6 K 6 3

High tensile strength] ANt NRiU !

Very difficult to machining p R & UKiY(Bog|
on & U0 S

0w >

88 : Whatis the tap drill size for M20 x 157? |
M20 x 15KYU cdf U B @eriSuSy®

A : 185
B : 20
C : 19
D : 17

89 : Whatis the drill hole size for 16 mm
reamer? | 16U 0 6 G &KW o) t DN 0 H#S

a uS’fV

A : 1575 mm
B : 1550 mm
C : 14.65mm
D 16 mm

90 : Whatis the name of the part marked as X?
| X$ WL UOINK tn 0® 0S¥

%y%f

Breastplate [T 95 Y |

Bevel pinion [0 Y U Un On
Frame work [t Y 10 K¢

Locking screw peY UKB «

OO w >

91 : Whatis the size of drilled hole for reaming,

210mm? | g 106 K6 O kHBae]) t D kek |
| YKEE 0 FaS0S-y

A : 85mm

B : 9.75mm
C : 10.00 mm
D 10.25 mm

92 : Whatis the name of part marked as X in
hand reamer? Sy 6,0 6 @S YL UOMNK tn 0 O
a asSy

Taper lead | Y o

Bevel lead [0 Y oede t

Circular lead § KU adeéeb

Taper lead anglel] Y b} B k ce

U0 w>

93 : Why drilled holes are over size than drill
dia? |Ut BYeed K 0N U o3rdd D kek |U |,
hKooBURKzSF

A : Feedratioismoref 0 AN UKUNEKY
B : Cooling is in effective R & N &1O Ufk 9u
C : Insufficient clearance angleq n O dl ¢l
Kzn

D : Unequal length of cutting edgel U I | Blk
KIS 6 wdBodh

94 : Whatis the counter sink angle of
chamfering in the end of drilled hole for threading?
| 2 ¥ UdWBoal + D kek || Y K¥A BANBX O UKE'B

A 75°
B : 80°
C : 90°
D : 120°
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95 : What is the name of thread?#t $2 YK 0

na®dasSy

AL

Vee thread |r & Y

Buttress thread [0 | 62Y %1
Square thread] 0 O& Y t
Saw-tooth thread | $ ¥ GenY }

o0 o>

96 : What is the name of part marked X? gXY
UL UOINK tn 0@ 0S¥

=1 NEBL

X
A Root |A |
B : Pitch|UnL
C : Crest|OY "
D : Helixangle[SY Ukebn

97 : Why centre screw is provided in the die
stock? |t 0"'hY K B3 °Xia zTBN dUrK @ O$H
To tighten the die } 0K &K § TKYU ce|
To adjust the depth of cutK I K &k S 6 K /A
6 0 O ZKWBLKNO ce)

s

KYI 0 K 2 6 0 O KGBIHND oe|
To adjust the dia of external threadd| 0 S 6
YHY 0 K 2 6 0 O KWGLHNO o)

98 : Whatis the included angle of metric V
threads? |6 0 UV ® KiKzass 0 U sKIzSaNa S%
A @ 45°

B : 29°
C : 60°
D 47%°

99 : What 46 represent in standard marking
system of grinding wheel (32A46H8V)@|o HB Ut 1
L 0 @2A46H8VKYS 0 nFKB KTnn 0 @3B a G

¥
NRUSANG

A
B
S
C : To adjust the di@f internal thread |h BN U & K
2
D
2

A
AO0ODO @

Grade |Q]VY }

Grain size QY6 H# S

Type ofbond |0 BKTGr Ka 6

Type of abrasive in L SKE Ka 6

o0 w>»

100 : What is the tool used in grinding
operation? |Q]0 #B WIGB RMOU! n K 6&0
Sy

Honing tool |S Zz U-niBog
Abrasive stick [ Sd 1§ G
Diamond dressersi] 0 O& BIY $ 6
Star wheel dressers’| 0 6 0 ¢eD Y $ 6

o0 m>

p

101 : What is the colour of aluminium metal? |
0600 aKD BKSy
: Dull white |6 BSNOY N
White | § OY N
Bright white |L 6 K N§1 @Y N
Bluish grey colour i U HGRY B «

OO0 w>»—

102 : What H denotes in the specifications of
grinding wheel 32A46H8V |0 A B WitoeB K
32A46H8\KYUr Un 8IBRIN R G $AN 0

A : Grainsize QYsm H# S

B : Typeofabrasivein L SKE Ka 6

C : Grade QY t

D Structure |$ B6 L 'na

103 : Why precision instruments are made of
invar steel? |& 2 BT U &1 RyrK 6y 0 60 &Y0 n Y
S 7 §UY

A : Durability|[Hn a UOb

Cheaper in cost el kKON~ 0

Surface finishingisfine§ N§ 4 6: 6 n

$

Least coefficient of expansion] r ™ K @

ok Un o BK
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104 Calculate the reading of vernier
micrometer? |H$r Un@ OB Oz K @ 10 &K 0B k
K N nKog?3

;Eé
0 T s ——E— 0
IIIIIIIIIIIIIIIIIIII% 45 ><
= |--
/
A : 9.923 mm
B : 9.963mm
C . 9.563mm
D 9.763 mm
105 Why lime stone serves as flux added to the)

ore in the blast furnace?yy 0" On G 6 B U ke® Y
HO (ore)o BUKMYE G 1 (@0 )KYA no 3
a z2BS odh O8GY

A To form molterslagp z .6y
B : Tosupplytheoxyn|i Uz L
KYU ce|

C : To burn the carbonin cokeK z K B 0 okcZn
L ceukYYoe)

D : Toincrease the melting point of ordq &’

(i )KL G d&d D | KWYe|

& n KrJYoe)
/¢

106 Which micrometeihaving provision of
interchangeable anvils? Z8 F 0 HOz6A | 6
Un Santils)K h N U 6 KASHY Nogfad 0 r 0 07
Sz 8%

A : Depth micrometerf Y6 aH Oz o0 6

B Inside micrometer [H'n § achd HOZ 6 G |
C : Outside micrometerﬁ TFS$aht
OurODBO I

D : Screw thread micrometer’| (g Y

ourOzoUl 6

107 Which factor determine the selection of
wire in screw thread micrometer? |G 2 Y }
SuUHOzZRKIZ& T 0 QO AnUnU_ N
N=EY

A : Threadangle| G KiKzZ n

B : Type of thread and pitchlL G K @I K Gij 66
Unl z L

C : Rootandcrestp Iij 60"

D : Major diameter |T 8 Uki $

thnidUNg¢

\=A

108 : What is measured with telescopic gauge?
|I YUce wVEiFBR OB aRB%

A Depth |k S&6 0 h

B : External dimensionp 0 60606 Y~ R™N
C : AngulardimensionKz A @06 Y™ RN
D : Size of holes, slots and recessés$|| >z |

ij U6 S §réceskeB)

109 What is produced from blast furnace? |
yo Onas&&al j Sz 8%

A : Pigiron |[KA ez S

B : Castiron |K A ez S

C : Wroughtiron |cez S @

D : Malleableiron|n 6 ez S

110
measure with telescopic gauge? |\? oel’

What is the minimum dimension can
kWi K

A 8.0 mm

B : 12.7mm

C : 19.0mm

D 150 mm

111 Which gauge is used to measure below 8

mm dimension? |8J 6 & 0 $ W G4 ¥ rKiVee|
UK& YO nOBK Qm 8%

S SHES

A : Telescopic gaugel Y el & ¥ i K

B : Small hole gaugel| z | ¥kNY L

C : Depthmicrometer |k S6E&H 0 HOzZ 001 6
D : Inside micrometer HBR & HOZzZ o6 G 6
112 Which cast iron has the ability to minimize

tool chatter in machine tools?( K & 0 "h O 6 @ 3
6 RO & Bilok B &K 0K 6 K 6 Nz &
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Grey castiron QK A tcez S @

White cast iron |§ OYKNA ez S @
Nodular castiron k 0 B Mauoéz S 0
Malleable castiron Jn B KW doé¥ S

oo0Ow>
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113 : What is the name of the fit?# $U OK G

n adaSy

° o272

SHAFT |

HOLE /)

A : Transition fit | D 0 BXQIR N

B : Clearancefit] & O 6EGI

C : Shrinkage fit |U Y BKD I

D : Interference fit |H p 6 OYU&R $

114 What is the term of the algebraic

difference between a size, to its corresponding
basicsize? h KO KW GKO 6 L Kk URR K&
T $kYBoBUMMNI 6AIKSD 0 B

A : Deviation |Ur L ocen

B : Upperdeviation |[An & r L cen

C : Lower deviation |eez 1UG L cen

D : Actual deviation|f 0~ UW KL cen

115 What is the upper limit of the component

size|L MKOKHAN & cUBASZ R G
A : 0.005

B : 0.008
C : 19.995
D 20.008

116 What is the term used for the relationship
exists between two mating parts?™N # Y WD0EGZ B
) ufh.é!'BcK‘BJme]' OURE & asy

A : Fit|Ut I

B : Limit|UcU®6 I

C : Tolerance | z ce6 3 $

D : Allowance |[Hoed T B $

117 What is the least count of vernier
micrometer? |1 Un@ OB Oz K iHlo § rKkoaniB
S¥
A : 0.01 mm
B : 0.02mm
C : 0.001 mm
D : 0.002 mm

118 What is name of the tool?# $I- (ikoén G 0

a 0SSy

A : Flatscraperg n kU6 L 'n @

B : Hook scraperfh Kk U6 L 'n @

C : Halfroundscraperfa ®uT Bin 6

D Three square scraperN GrnkkcU 6 L n @
119 How chipped out scraper can be repaired?

| K9 K6 K6 S KL &
A : Filing|O0 #U ®Bk
B : Lapping|eeY Un Bk

C : Chiselling . & L U @Bk

D : Grinding and honing@ad #B Ut Bk

K N3w

120 Which part of vernier micrometer is

marked with vernier scale graduation? [Un ¢ O 6
OUHOzZRWK®OuKzZ UncvOdY L UYYR™N
$0dL UU K@ O

A Anvil|] nUr ce

B : Frame|fVY &

C : Thimble |Un Bo ce

D Barrel [0y 6 ce

121 Which instrument is used to measure the

effective diameter of screw threads? [liz Y tKX $§
TOUWr KD 0 rkNee) K § n K 6K
TnOpKdbm 8%
A : Screw pitch gaugeH DGr VY L
Outside micrometer h T | § 0 && HOZ 6
Screw thread micrometer’H Y 1
arHOzoal 6
Screw thread caliper gaugeH OYKY ced n 6
L

X OQOonO W

< ..
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122 : What is the name of part marked x in dial
gauge? t 0 CkoYdBKYA n6 8L UOINK In 0 &
aasy

Anvil || nUr oe
Stem |H3 I Y
Pointer |© # | 06B
Plunger f L @B

oo0Ow>

123 : What is the lower limit of size, if dimension
isstatedash KoK dUn Loafia wmsS, 9 UN

hduady

A : 24.85mm
B : 24.75mm
C : 25.00 mm
D 25.021 mm

124 . What is the name of system if the size of
the hole is kept constant, shaft is varied®|UINY N
KthKaBHA&WaSH 6RacHUHEHEZ
Us" RinadausSy

. Bilateral system p 0 H ceVI$ @lcel
Unilateral system D (i 'n O d&'8 1816 ke
Hole basis system$ z @Y U K& |
Shaft basis systemR 0 © Y B " 6

OO w>

125 : What is the algebraic difference between
the actual size and its corresponding basic size? |
n“ Ul KO 6HS KYB O B Y DIEKHKY
0d 0 L KB 6SY

Deviation |[Ur L cen

Tolerance |$ SN RGO N

Actual deviation | Ub KL cen

a~
Upper deviation [H U i &r L cen

UOWIDO""

126 : Which device is used in conjunction with
dial test indicator? } 0 Go¥YHB Ut K& & 16
UK$ nKékd n O K Gm 8%

A : Chuck|L K

B : Stand |Ht I 3
C : Toolrest|l G6a¥ H |
D : Benchvicep IrLa A#$

127 : Which scraper is used to scrape small
diameter holes and deburing edges of holeg?# | Y

0K 3 8BYKNUK N B dJd BKkG KY
erJ.jJKk U6Kdin Ok Gm 8%

A : Flatscraper n kU6 L n G

B : Hookscraperf Kk U6 L n

C : Triangular scraper 2 K z ki G &L n @
D : Bulknose scraperp Unsg K U6 L n @

128 : Which surface is used for scraping large
bearing surface? § $ro O K &B\KE & U 6 KYn Y
quluKs N&d nOPKOm 8%

Flat scraper g n tkklU 6 L n @

Hook scraper f Kk U6 L 'n @

Triangular scraperP 2 K z i G ®L n G
Bulknose scraper p Unsg K UG L n G

o0 m>

129 : What is the difference between maximum
limit of size and the minimum limit of sizeh|K G 6
KAAURKKES& goh KaKG Gdn B & K
0G4 0ABNY

A : Tolerance | Y63 $

B : Basicsized (hoK G 6

C : Limitsofsizeh Ko K dJ cell 8

D : Upperdeviation [An &r L cen

130 : Which is grade of tolerance?| Y ceG K $
alvr &%

A : Bilateral tolerance p O ce¥Yt'I YDoeé 3 $

B : Unilateral tolerance |0 G n ( los¥ de s

C : Fundamental tolerancePB t 0 & ¥ keGe3 $
D : Fundamental deviation$ Z U GeK L cen

131 : What is the maximum limit of size if the
basic size of the hole is 25 mm and the deviation is

+0.2mm? [O UINY KNS Y UL vHRBU 6 § ©
Ur LeaU0 SHAKIKHUR KNGUD T

S

A . 25.2mm
B : 248 mm
C : 25.02mm
D 24.08 mm
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132 : What is the name of part marked X®|u K SHAFr)
XK in a®aSy ot -

HOLE <§§

Transition fit | D 0 BXQIFR N
Shrinkage fit U Z BH @ ¥
Clearance fit| G O 6HGI
Interference fit [HB | 6 OYOB 3 $

U0 w>

135 : What is the maximum limit of size if size on
drawing ispy012 ?| © UIND nHBKk 0 8K 2
021

. - o . . 20—0.12
Anvil|] nUr ce KoKHA UK KES & asy 021
Steam |Hol Y

h
A
Pointer [n YAB | 6 B : 19.979
C
D

OO0 w>

Plunger f L @B

133 : What is the name of the instrument?d B 2 : — :
136 : Which term indicates the difference

Kno®dasy between the maximum limit of size and minimum
limitof size? h KIKAUR KK G §dh Ka 6
K GnK&&WDOCHBNGKZERsSNRGC NG
Sy

] A : Deviation |Ur L oen
B : Tolerance | Z ce6 3 $
C : Actualsizefy 0> Ul Ka 6
D : Upperdeviation [An &r L cen
137 : Which type of fit, the tolerance zone of
doooo § oooop hole is below the tolerance zone of shaft® |K $

A : Dial vernier caliper} 0 Qo) nkyOBcen 6 | T 'fUAKaDAO? Bz Kell Y el IR0 KW Y oe63$
B : Vernier micrometerf Un& @60z 56 ¢ UYan udy
C

Dial test indicator lever type| 0 Cra¥ " A @ Transition fit|I D d BLQHR N
HB U ol i @ H 1 B : Clearancefit| 0 O6WEGI
D : Dial test indicator plunger typet| 0 Go¥ * C : Shrinkagefit|yZBUON
D Interference fit |HB I 6 OYOB 3 §

HB Ut XB U-d Hn

134 : Whatis the name of fit? U OK tn a & G
S¥
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138 : Which term indicates the algebraic
difference between the actual size and its
corresponding basic sizeX|Z® Rts1t 0~ Ur K
hKoip6r$ KYBO B UMD K6 daaLaod
HB K d B K NGy

A : Deviation |Ur L cen

B : Actual deviation|r 0~ UU KL oen

C : Upperdeviation [An & r L cen

D Lower deviation ez AHBr L cen

139 : What is the name of the tool?l{ (ikoéh 0 0

aasy

- ==
Flat scraper d Y k U6 L n @
Hook scraper j Kk U6 L 'n @
Half round scraperf 0 &0 T Bin 6
Triangular scraperJ 2 K z f G ®L n G

OO m>»

140 : What is the name of the part marked X of
lever type dial test indicator?del 1+ & # i O ce
I YHB Ut KD i XK In 0B 0S¥

T T
—0 ]

1

‘X'
A : Pivot|Unr zt
B Lever [celi r 6
C : Stylus| 0 HeS
D : Scroll|" Y ce

141 : Whatis marked as X in hole basic system?
| SZza@y UK GRKW nda@aUL USHIN
IXI

A Tolerance | Z ce6 3 $

B : Maximumdial[HURKN& O
C : Lower deviation K 6Ur L cen

D : Upper deviation [HU fn &r L cen

142 : What is the expression of 30H7/g6? | 30H7
/g6K t(HU O4 GlasSy

A : Fit|Ut I

B : Limits|UcUSd I
C : Deviation |Ur L cen
D -

-

Tolerance | Z ce63 $

143 : What is the lower limit of size in dimension
of|[Kth OudBKIKWUN LoD G TS Y
A : 19.988

B 20.028
C : 20.007
D 19.979

144 . What is the type of fit, if the maximum size
hole is larger than minimum size of shaft® |O K @
TK@OSHPUMUARKNE GBS Ztoi n NS
hKOKRO S §358&W

° s o LA HOE
SHAFT é =<1 SHAFT

HOLE

Shrinkagédit | UZ BH @ ¥
Transition fit | D 0 BLQIFR N
Clearance fit| G O 6HGI
Interference fit [HB | 6 OYOB 3 §

0O m>
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145 : What is the name of the part marked X in
dial test indicator? } 0 (oé ( B B KYS MKY
AnoBL UOINK In a®uSy

Stem |H3 Y

Pointer |$ (G L K

Back plug |0 Kk ce
Bezelclampp Y $ € n

o0 >

146 : What is the angle of holding the scrapers
for soft metal? In 6 & OO OE]Y nK By KSnY
KiKzaoaSz 8%

A : 30°
B : 60°
C : 40°
D 20°

147 : Whatis the marked as X? |K&A n 6 3

UL Ua o
X—
e ; sy 3|4
A §E 38
W /J 5 ZERO LINE
A : Minimum limit|t G n N6eUGS I
B : Maximumlimit | HUR KNoeUOS |
C : Lowerdeviation [Un"' M6 L cen
D : Upper deviation I © NJ&r L cen
148 : What is the upper deviation of the
componentsize L F K KG K d © N L é&n
Sy
A : 0.005
B : 0.008
C . 19.995
D 20.008

149 : What is the lower limit of size, if dimension
is stated as in a drawing?| K 0 K 0 n L&a®i 6 G
a0SPUMNO 0K 4 D BHEBK OFN

A : 24.85mm

B : 24.75mm
C : 24.000 mm
D 25.021 mm

150 : What is the marked as X? |[K& n 6 3
UL Ua 0%

Limit | UceU G I

Tolerance zonet Y o8 ¥ &
Lower deviation [Un ' ™6 L cen
Upper deviation I © NJ& L ocen

o0 w>

151 : Which part indicates the reading of dial
test indicates? } 0 Ga¥Y K (6 0 UJ KB&S ,$ ¥

TaKENSY

A : Stem|HO6l Y

B : Anil|] nUr ce
C : Pointer|$ (G L K
D Plunger f L@B

152 : What is the name of operation?Hf $
I n6YRMIMaDaSY

L

\

Filing |00 #U Bk
Drilling |JU+ D U eeBk
Scraping] Y Un Bk
Chiseling UL L' U ceB k

OO0 w>
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153 Which scraper is used to scrape the centre

portion of large flat surface?d & €I n BIN &Y

0| OukAx U6k K& U6 Kdin Oz k

UKOQm 8%

Flat scraper g n tklU 6 [y Y n) 6

Hook scraper j Kk U6 (NTKGY 1) 6

Triangle scraper J 2 &kU1'6 (D OB k o
Y6

D : Bulknose scraper p Uroz kK U 6 (©riJicg I

Y né

A
B :
C

154 What is the name of the instrument?H $§
O®an u®uSy

i

A : Screw pitch gauge’ |G UK. Y L

B : Outside micrometer p 0 H6uiH Oz 6 G | 6
AT $0BEHOZE G 6

C : Screw thread micrometer’| (g Y
ourHOzoul 6

D : Screw thread caliper gaugé [i 2 YKy oel n
KYL

155 Which instrument is used to magnify small

variation in sizes by means of pointer on a
graduateddial? |Q]Y L U] GROnod) Y HIBYM @ 6 T
hK6oBz bWNeKmy 3 BWRKZEY

T nKG6Siy

A : Dialtestindicator} 0 Ga¥HBUt KY | 6
B : Inside micrometer [H'n $ Gt # Oz 6 4 |
C : Dial vernier caliper{ 0 O o nk9OW6 cen 6
D : Verniermicrometer |[r Un& OB Oz 6 0 | 4
156 What is the number of fundamental
deviation in the BIS systeh T n ceff ) Bnh G cell
haa6OUGN ¢cecdeéeéeéeéecee Ko 8
A 25

B : 20

Cc : 15

D 26

W o«

157 How many fundamental tolerance grades
are available? U K NAniYo 6 © @ beddfWii n ceff
Sy

A : 18 grade
B : 25grade
C : 15grade
D 12 grade
158 Which precision instrument is used for

comparing and determining the variation in the
sizes of the component?Q o K¥h B 0 § AB.....
K 2R G KNG i) BN U oknsamcY0 ol 28 ¥

niéRUgNKBKAIT O Sk 8%

A : Micrometer|6 G HOz o Ul 6

B : Comparators K" Y&6Y I § ¢

C : Dialtestindicator }f 0 Ga¥#HUn KY |

D : Vernier bevel protectorf Un@ V@&l Y I 6
159 What mechanism is used in the lever type

dial test indicator? [U cerr &kt 0 Go¥
HUNKOBEBE &Y KY Ki 88 &%

A : Screwandnut] Gij 6n I

B : Rack and pinion$ Jijk6Un Un On

C : Leverandscroll¢el rij@° Z ce

D : Worm and worm wheel | Gijc6r ocl ce
160 Which comparator is used in mass

production? |n z Kj 0 N ®ZA K" YOY I 6
TOUSZz &

A : Optical [J UK K e

B : Pneumatic|t G669 Ul K

C : Electronics[HeeY I Dz Un 0

D : Mechanical |0 § KY UnK ce

161 Which gauge used to check internal thread

of components [O 0 K Z2HBI 6L G UK 20 &1 BKY Y
UockzBa X 9Kd n O8 & 8

A : Thread ring gauged Yit GKBJKL
B : Taperring gaugell Y & 6KBykL
C : Thread plug gauged Y3 Kk § L
D : Calipergaugeky Ueef &

&0 aoa SyA
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162 : What is the extreme permissible sizes
within which the operator is expected to make the
component? |[KZ-4 @ 66 0 K 8la§P L KY
Ot N&) 6 Y8160 & n KnfiyK 0 Bkid o B%
A : Basicsizehno 6 ®a Nn

B : Actualsizef 0> Ul &a n
C : Nominalsize h z U thmdaa n
D : Limitsofsizehoak@® Goa]l

163 : Whatis the size of the component by
actual measurement after it is manufactured? |

TjioNmwaodlaky o> Uh Koz aKSa

Loy

A : Limitsize |U0e h“)d an

B : Actualsizef 0~ Uh &an

C : Maximumsizep y U U@ @ 1 KNS 0 n
D : Minimum size |Ud U r{o®n M a n

164 : Adimension is stated as 25 + 0.02 mmin a
drawing. What is the tolerance? 6 Y&8r 6 0
t 0 OKYWKZAB5+0.02mmK S i Bl Z ce6 Y
aaSzxa
A : +0.02 mm

B -0.02 mm
C : 0.04 mm
D 25.00 mm

165 . How to identify high spots while scraping?
6z N0 KBS B nT OMYHN Ka

Ky rq; §LPnIKY

Pru55|an que TI' U R Q 1]

Copper sulphate K n&~Y |
Cellulose lacquer$ Y cez oz K66

OO ®>:

166 : Whatis the smaller of the two Iimits of
size? hKOKINBEGO DEBZ8 0 2 ISH
Actual sizef 0~ Ul KO 6
Maximum limit of size hp Ka K (HU A KN

O¢

z O v -

A

B

VR

C : Minimum limitofsize|h Ka K& Gn N
S0

D

S U060
Limitof sizeh KO K & G 6

[am]
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167 : What is the name of the lathe specification

of marked as x? | KYA n6 8L Uk &NaON Un N8|R

Kina®aSy

Lo
I

Length of the bed p YK (ceB G G h

Centre height of lathe k 6 0KNS 3 B 6 H |
Length between centre K3 KYo G K (ceB o 0
Length between centre K3 KY0 0K (ceB 6 0

OO0 o>

7

iKS yIYS 27
KB INGBLU KaNg O

168 : 2 K4 Aa 4
the lathe carriage? k 6 0 N
Ko nao? aa Sy

Tool post || Gnaz *

Top slide |- Y. na #1
Cross slide OY § U #i
Cross slide oY § 0 1

o0 w>

169 : What is the merit of three jaw chuck in
lathe machine? k 6 ONR GSnS G N6 & YO lo
KDY &asy

A : Workcanbe setwithease o 6 $ 08 ¥
UHD & Q@ KNSy

B : Run out cannot be correctedd ' T I K z

$ Ui K N G

C : Only round and hexagonal components can

be held |KY rkc@ipe6 SY U0 kZIKeg/BK § G
L & KNSy
D : Only round and hexagonal components can
be held |KY rkaipedSY Ud kizIkegZBK $ 0
L & KNGy

170 : What is the name of the part marked x? | X
UL UOINK 0n 0@ 0S%

Body [6 Y I G
Back plate |0 Y X

‘A
External jaw [0 G 360
08

p

< %<
(]

OO0 W >
o

External jaw [0 0 660

171 : What is the demerit of four jaw chuck? |

L G50 SradloeK @ & Y @asy

A : Jaws are reversiblel] 6 § el @ ¥ & 2 Y
B : lIrregular shape job can be hold{Un OU 6 N
hKoKL Y K3 KNSy

C : Heavy cuts can be givenQ G K Ei
$ KNIy

D : Heavy cuts can be given© 0 B BN @
$ KNSy

i a

s

172 : Which type of rake angle make slope from
the front towards back of the tool? ) K § K 0K&

6 YKG B Kl O K8I6$ 0 SNKKl cetoin o N Y
SF
A : Endrake angle]| B6tYKKz n

B : Siderake angle$ 0 FBIYKKZ n

C : Negative rake angle'h Y k & YKKzrn
D : Negative rake angleth Y k & YKKzrn
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173 : What will be the effect, if the carriage is KUIIRikoel n O K Qm 8%

not locked while facing? ® U0¥ Uk B % O A : Solidtools |§ Y Ulodl ce

Ky UKGaEY K SUKBR ONA 0T Omrs Pk o B : Brazedtoolsl‘[\?ll-#fj e

A : Correctface |§ SQY $ C : Throw away typetools& Hr YO # G oe
B : Convexface| B @Y $ D : Throw away type toolsé Hr YO # G e

C : Concave faceir NG $

D Concave facefir NG $ 178 : Which gauge is used to compare the profile
of thread? |2 YK T z O OKFAE" YK66 Y0 ce|
174 : What is the name of the operation carried UK& YT n 0K Gm 8%

out in turning to remove burr anq sharpneAssAfrom A : Pluggauge) Kk Y L.

the edge of component?ll I KYUK ng1¥ Y B : Feeler gauge P 0 o&6Y L

K3 k3G BNG Kk KgSnh aviveel Kk | C : Radius gauge( 2 ski¥ L

| n 6 YR 0®aSY D : Radius gauge() 2 ski¥ L

A : Grooving |Q)G Ur Bk

B : Chamfering|L Y6 Ol 6 Bk 179 : Which is the vertical distance from crest to

C : Stepturning |'Hnk ¥n dk theroot? |OY HSN Al NK K& T Bachd
D : Stepturning [Hnk ¥n dk S¥

Lead |cel t

A
175 : Find out the spindle speed for turning dia B : Flank|d 3 K
40 mm cast iron rod, if the cutting speed is 15 C : Pitch|UnL
m/min? | 40U 06 K‘?h'\l cerodz 8 YK 4 K6 ’IK\? D Depth | K $60h
erjJ . ek &k URIO KNG 8 UKD | KnGy U18

ou I/ 4] 6 (£51Y 180 : Calculate the blank size for external
A : 119.3rpm threading M16 x 2.0 p 0 S&it@ona S6YL) MIB k
B : 100.3 rpm x20KYchalqu§I€|FKSu<nr‘KuoEl
C : 2193 rpm A : 14.0mm
D 219.3 rpm B : 15.8mm
C : 16.0 mm
176 : What is the name of the operation?q $§ D 16.0 mm

| n6YIRIMODISY

/.

181 : Which type of thread is used in screw jack?
GLYKBKEKIKSE YKd n OpKQm NG
b

Vee thread |r & VYt
Acme thread || K & W t
Knuckle thread jn K ce Y
Knuckle thread |n K ce Yt

O0OwW>w—,

Square shoulder] 0 Oz : 6

Filleted shoulder JO” YR : 6
Bevelled shoulderp Y r et : 6
Bevelled shoulderp Y r et : 6

OO w>

177 : What type of cutting tool used in mass
production? |6 3nYy ddnjYa N K § K K&
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182 : What is the name of the part marked X ? |

XULUOMNKktn a®dasSy

A : Bed|o Y1

B : Tailstock |- Y o K

C : FeedshaftOG RGT |
D : Feedshaft QG RaT I

183 : What is the maximum swivelirangle of
the compound rest in the lathe machineX|6 G N
6 ROSE* TrBd YKHHIU N K N & Kizra @

S¥

A 90°
B : 180°
C : 220°
D : 220°

184 : Which part is mainly supporting the
lengthy job in lathe machine? Z & ® 0 & U &
AnsS NG ONR UGNEBIO YK 2 n Z2KI6cNSH
A : Faceplate OY $ Y I

B : Steadyrest] § G "

C : Dogcarrierf YKy 06 O6

D : Dogcarrierf YKy U6 O6

185 : What is the name of part marked as x of
three jaw chuck? N GIno & YK6 ¥KYA n 6 3
UL UOINK 0n 0@ 0S%

Body |6 Y+ €
Back plate o Y XY |
Internal jaw |h B N tL60KS G

A

B :
c -
D : Internal jaw |h B N tl'60K3 G

186 : What is the deamerit of 3 jaw chuck? | 3
I 0 SLOKK (N z&8uS¥®

A : Workcan be setwithease 0 6 $ 08 ¥
Un f OKIOEENK NSy

B : Internal and external jaws are available |
h B N Uij66to 0 6608 ) et F

C : Accuracy decreasess| I 0 KKNoIB £ 0
D : Accuracy decreasess| I 0 KKN\GIS £ G

187 : Which tool materials are manufactured by
powder metallurgy technique?y a T & & I cel’ @
FYli o B USod KT n oGk @@ N
X
: Carbides|Ku 6 0 0 Ht

High speed steel$ 0 hi F G ce

High carbon steel] AK 0 6 clince
High carbon steel] AK G & clince

OO wm>Ww

188 : Which angle of the tool prevents from
gettingjammedin the groove and causes breakage?

| I (KoeK Z & K 2 Q) 6r@ s sV 2 KRjas
K KY 607n 6

. Side rake angle$ 0 F5 YKKzZ n
Side relief angle § 0 Fit 6 celf DN
Side clearance angles| 0 Ht G O 6Kaz8n
Side clearance angles| 0 HtG O 6K378n

0O w>»
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189 : What is the defect caused if the tool is not
set to the correct centre height while facing®|U N
I (iKo#OY U BMY @ SKAKGB Ljpd& Y |

n SUIIKB(Duu SN & aN 2z &y

Convex face| B @Y $

Concave facelfir N& $

Pip left in the centre K3 &8 nlnz 8 \??o\lyu
Pip left in the centre K3 &8 nlnz 81 Y $

o0 w>

190 : What is the unit of cutting speed in
turnlng'> |K O | Knl¥ URNGR K 0&ha S%

A : mm/sec
B : m/sec
C : m/min
D m/min

191 : Whatis the type of operation is carried
out? |[UKF KiK&d n 6 Y RO @ ST

O

O H )

[

Straight groove § G &0 r
Vee groove | @Ur
Round groove k z @U r
Round groove k z @U r

OO m >

192 : What is the name of portion between root
and crest of the thread? . ( BY& I ij 6 OY 'KV I
OUKYOIK I aduSy
A Root |A I

B : Flank|d 3 K

C : Depth|t Yc n
D : Depth|t Yc n

193 : What is the principle of dial test indicator?
|t 0 GaYHB Ut KM B 6 a BSY
A : Sliding| aH#Ut Bk

B : Screwandnut] Gij 6n |
C : Rackand pinion§ 9ijK6Un Un On
D : Rack and pinion§ §ijK6Un Un On

194 : Which dimension is measured by using
screw thread micrometer?’| (ie Y& 0 ROz Kl | 6
TnOKEKYKs 0 OB § 0 B%

A : Pitch of screw thread’H €YK U n L

B Minor dia of screw thread’H ©UK i G Hn 6
108

C : Major dia of screw thread’H OYK ©® Y L 6
108

D : Major dia of screw thread’H OYK © Y L 6
108

195 : What type of power transmission is
transmitted by spur gear?( K § K K6 Y r 6
IDOBS BOROGEBL Bix BN

A : Parallel transmission 0 G Nn& BIN® n
B Angular transmissionK z n § BL 6 n

C : Intersecting transmissionT U N &YBNL 6 n
D : Intersecting transmissionT U N &YB\. 6 n

196 : How many types of bed ways are in centre
lathe machine? § Y6k & 0ONR Gond K NTNKYOKE

o YSF
A 2
B : 3
C: 5
D 5

197 : What is the use of screw pitch gauge? |

'H @gr YKd n O0a wsSy

A : Check lead of the threadd YK (pel K {
LaKdé&na

B : Check the pitch of the threadd YKYU nK G

L YK6na

C : Check the minor dia of threadd YR @ 0 H'n &
b o Qo EWHY&K 6 na

D : Check the minor dia of threadg YK G
SuHRMBO0 KAIYKS NG
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198 : What is the name of instrument?H SO B 2

Kina®daSy
HEl

v o

A : Vernier micrometer[f Un@ OOz 6 0 I 4
B : Outside micrometer p 0 SH6uiH Oz 6 G | 6
C : Three wire micrometer N Grna O 6
ourOzoUl 6

D Three wire micrometer N Grna O 6
ourOzoUl 6

199 : Whatis the name of part marked as X in
centre lathe ? K3 K6 GONBKYA n 6 B L UO iNk
Kina®aSy

Apron|] T™n

Saddle S § t @

Gross slide P'a 81 rda
Gross slide 00 $H rdO

o0 w>

200 : Whatis the name of part marked as X? | X
KYA nd 8L UOMNK in 0® 0S¥

Clutch |T L

Feed selectorf G1US ceY Il 6
Lathe spindle k 6 N Bt oe
Lathe spindle k 6 GCN Bt ce

0O w>

201 : What is the name the specification of
lathe marked as X? | Markedk&A n6 8L U N
k6N r UnKenR®uSy

X

_ﬁ:_,_cq_:&

i p

Bed length [0 YK (ceB 6 U h
Centre height |§ Y&S d-H |
Swing diameter |J_ B $
Swing diameter U_ B & $

0O w>»

202 : Whatis the purpose of back gear unit in
lathe machine? k 6 ONR Gdnd § (Kk @di ru
T 3Y3usSy

A : Reduce the spindle speed), BK te UN
KoK & 3

B : Increase the spindle speed]. B} oet
0TO] B

C : Quick change spindle speed| 'n t'Hetn
K4 . ® Nceen

D : Quick change spindle speed)| n } Hetn
KA . ® Ncena

Co

Co
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203 : What is the name of gauge’| YKLOn @ &

Ring gauge fi 6KBYKL
Screw Pitch gaugel nk.Y L
Feeler gauge O 0 ox8Y L
Feeler gauge O 0 aadY L

o0 w>»

204 : What is the range of pitch that can be
measured by screw thread micrometer®|n K. G
SO GmSYLShve YBaHOzOG® WH O

$ K NS®

A : 0.01to0.5mm
B 0.02 to 3.5 mm
C : 0.25t03.5mm
D 0.25t0 3.5 mm

205 : Whatis the range of metric screw thread
dimension is measured by screw thread

micrometer? |6 § U i@ KU r & 00 K 6 3Kz
"G VIOHOZIO O BE 0 B§ |

A : Mlto M6

B : MltoM12
C : MltoM30
D M1 to M30
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206 : Which chart is used to record the skill of
the operator in practice?} r S@&n 6 YKY 6
KZRKeAdl 6 KRS KW o) K§ akd n Oz «k
UKQm 8%

A : Testingchath 6 6 0al ¢

B : Levelling chartjeY r U @Bk

C : Geometricchartjs 0 U6 NG D¢

D : Performance chartT NRI @l ¢

207 : Which bearing withstands load is parallel

$

A : Needle bearingh ¢ t® Ou 6 B«
B : Thrust bearingp HUI6 Ol 6 B k
C : Plainbearingp 0 BI&F O 6 B k

D : Splitbearing|0. U&b Ou 6 Bk

208 : Which belongs to Total Productive
Maintenance? |[K Z & &KU Tog 0 NokKk 6 k€'Y
$BOBINAN

A : Supply defective goods to the customers |
QuSKABSEOaOEBOBRSENQ

B : Unscheduled maintenance U n i o c U 6 N
6kdékauar

C : Produces goods without increasing product
quality |T j allk Un KB a Nor OO K B
Tj 0N NS

D : Reduces maintenance cost|k 6 kad Kk N
K 3K 6N Y St

209 : Whatis the high level formula for the lean
manufacturing OEE? | lednr U nI®rikKW oe|
T A 6 Gsdisen Sy

Availability x Quantity x Qualityl| n ceff X G
oZaUnr B

Availability x Productivity x Quality |
noetf Niij a NKkN@nr Ba

Product output x Quality x Availability |
j afNT I nxkl0n xBriicef N @

Product output x Quantity x Qualityl| j 0 N
TFnxbla@aUnr B

oDSg TTO TTm o >

210 : Identify the method of assembly
technique? |[H$ 3 dNogn KKUr K SLTin Y

Dowelling |t Z1r YU ®eBk
Pinning |lUn Un Bk
Peening[n & Un Bk
Staking[ Y UKB

o0 w>»

211 : Identify the type of bolt? |0 Z KYT K 0 6
K SL B&3

>

Bolt with clearance hole | @sB$Z K& G n
o7

B : Bodyfitbolt|o YUDb z

C : Anti-fatigue bolt || BO I00xzZ

D : ¢ o2faio zy

212 : Name the type of part shown in assembly
technique. |H $ 3 d\a&dn 06Ka N k 1 JJO 0 KY
TKIKON G@NG | i

Taperpin|k Yggn
Splitpin|U, Unmn
Cotter pin |[K Y Uty
Spring pin U, B n

0O w>»
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